Montageanleitung
Mounting instructions

Instructions de montage

Spriegel-Gestell / frame / Chéassis d‘arceau

Hochplane / High tarpaulin / Bache haute

e Alle Abbildungen sind Musterabbildungen
e All illustrations are representative
e Toutes les images sont des exemples de images

>

LN ~WN =

[ NN
A WN—-O

—_
o Ul

17.

Inhalt prifen Check content / \érifiez le contenu:

Langsstrebe / Longitudinal(e) member, (Re+Li) x2 / x2
Querstrebe / Cross-member / crossmember(Re+Li) X2 / x2
Stopmutter / Counter-nut / I'écrou de blocage, M8 x 16
Schutzkappe / Protection cap / bouchon de protect, M8x 16

Scheibe / Washer / Rondelle, A5,3 X ....

Blindniet / Blind rivet / de rivet, A5,0x10 X ....

Drehkrampen / Cramp / Crampillon X .o

Kabelbinder / Wire strap / attaches de cable x 6/8/10

Flachrundschraube / Head-screw / vis de, M8x75 x4
. Flachrundschraube / Head-screw / vis de, M8x55 x 8
. Flachrundschraube / Head-screw / vis de, M8x45 x4
. Holz-Spriegellatte/ Wood slat inserts / Latte a insérer X ...
. Eckpfosten / Corner post / poteaux d‘angle x4
. Langstrager mittig / Longitud. support / support central

x 3/4/5/6

. Quertrager / Crossbar / cross support X2
. Langstrager auBen (vormontiert) X2

External longitudinal support (pre-assembled) /

Membre latéral a I'extérieur (prémonté)

Hochplane / High tarpaulin / Bache haute x1

Einsatz bei / can be used for / peut étre utilisé pour:

HT, HN, HU, HD, HTK, HUK, MTK

Gebote / Bid / Offres.  Gefahren / Dangers / Dangers:

® LA

Montage - Schwierigkeitsgrad: ‘

mounting - degree of difficulty: L L L
montage - degré de difficulté: é 6 é
© ganzleicht / easy / facilement

©  mittelschwer / moderate / moyennement dur

®  schwer / difficult / difficile

Sie brauchen / you need / Tu as besoin de:

£\
HUMBAUR
N

Competence in Trailers

de/en/fr

#430.05xxx

007.00189_V11-2017

Ladehohe /loading height / hauteur de charge:
H=> 1300 mm

Version 11/2017



Anwendungsbeispiel / Example of application / Exemple d‘application:

HU / HUK Ladehéhe / loading height / hauteur de charge: H = < 1200 mm

HTK Ladehéhe / loading height / hauteur de charge: H = 1300 / 1600 / 1800 mm

MTK Ladehéhe / loading height / hauteur de charge: H = 1300 / 1600 / 1800 mm

2 Version 11/2017



HN Ladehdhe / loading height / hauteur de charge: H = 1300 / 1600 / 1800 / 2000 mm

Version 11/2017 3



pY
-
=
N
my
o
=3
o 05

HD

HT, HN,

Version 11/2017

£
HUMBAUR
g



Ladehéhe / loading height / hauteur de charge: H = < 1200 mm

9 <H 1200 ® M8 x 50

Ladehdhe / loading height / hauteur de charge: H = > 1300 mm

Version 11/2017 5



Version 11/2017



Version 11/2017 7



Mittelpfosten bei durchgehender Bordwand / Mullion with continuous side wall / Meneau avec paroi latérale continue:

10

8 Version 11/2017



Version 11/2017 9



Mittelpfosten bei geteilter Bordwand / Mullion with divided side wall / Meneau avec paroi latérale divisée:

$ HT/HD

i

10 Version 11/2017



6] HU, HUK, HTK, HD,

.

CH -

¥ 4

— "'

Version 11/2017




Bedienung / Wartung des Spriegel-Gestells / Plane - siehe Betriebsanleitung PkW-Programm Teil 1 - Allgemein.

Operation / maintenance of the frame / Tarpaulin - see operating instructions including car program Part 1 - General.

Fonctionnement / maintenance du Béche haute - voir les instructions d’utilisation Programme PKW partie 1 - en général.

Fur die fachgerechte Montage ist der Kunde verantwortlich. Firr eventuelle Sach- oder Personenschaden die durch unsachgemaBe Montage entstehen,
Ubernimmt die Fa. Humbaur GmbH keine Haftung. The customer is responsible for proper mounting. The company Humbaur GmbH assumes no liability

in case of any property damage or personal injury caused by improper mounting. Le client est responsable de I'assemblage correct.
Pour d‘éventuels dommages aux biens ou aux personnes causés par une mauvaise installation, Humbaur GmbH décline toute responsabilité.

Humbaur GmbH e Mercedesring 1 ¢ 86368 Gersthofen e Germany o Tel. +49 821 24929-0 e info@humbaur.com e www.humbaur.com

Version 11/2017

12



